

## KERALA WATER AUTHORITY

%

Office of the Asst Executive Engineer P H Sub Division, Sulthan Bathery

Tel:

04936-225422

email : aeekwaphsdsby@gmail.com

No. D1/2021/Deposit Work/PHSD-SBY-WND (IV)

Dated: 26.08.2022

From

The Assistant Executive Engineer

To

Sri Sumesh C K Chenathukandy House Kadalmadu (PO) Perumbadikkunnu, Ambalavayal

Sub:- DEPOSIT WORK-RENOVATION OF EXISTING WELL IN RAROTH ST COLONY IN MEENANGADI GRAMA PANCHAYAT- WORK ORDER ISSUED REG:-

Ref:- 1.This office tender 02/2022-23 dated 17.08.2022

## **WORK ORDER**

With reference to the above you are hereby informed that your Tender for the above work is accepted at the estimate rate of ₹ 1,46,996.00 (Rupees one lakh forty six thousand nine hundred and ninety six only) as mentioned in the schedule accompanied herewith . GST at 18% will be provided seperately.

You are directed to attend this office with in 10 days ie on or before 03.09.2022 with required Kerala stamp paper worth ₹.200.00 to execute agreement and start the work within a week after getting necessary instructions from the Assistant Engineer, P.H. Section, Sulthan Bathery.

- 1. Before Executing the agreement on stamp paper you should deposit in the Kerala Treasury Savings Bank a Security of ₹ 4500/-(Rupees four thousand and five hundred only) and produce the pass book duly pleadged in favour of the Asst.Executive Engineer, P.H. Sub Division, Kerala Water Authority, S.Bathery for the due fulfillment of the contract. The earnest money deposit furnished along with the tender will be released on production of the security deposit receipt.
- 2. Any failure in this direction will liable to result in the forfeiture of your special and permanent EMD and the cancellation of the proposed contract and you shall be liable to pay the Authority the entire loss that may be caused to the authority by the retender or arrangement of the work or otherwise consequent on your failure to execute the agreement or execute the work as provide for in the clause 10 of the notice inviting tenders and all such less shall he recovered from you under the provision of the Revenue Recovery Act or otherwise.
- 3. It must be understood that on no account will be rates once fixed will be



(PTO)

increased.Payment made as per the availlability of funds for the scheme

- 4. The work should be completed in all respect within 3 months from the date of Work order.
- 5. All the terms and conditions of the notice inviting Tender (Form No.83) shall be binding on the contract.
- 6. The Contractor shall take over charge of the site with in two days after executing the agreement .
- 7. The Contractor should complete the work in all respect as per the scope of work within the Accepted PAC.

Yours faithfully, T.K.Jithesh . Assistant Executive Engineer

## Copy To

- 1.Copy submitted to the Exe. Engineer KWA PH Division Sulthan Bathery for favour of information .
- 2.Copy forwarded to the Asst. Engineer KWA PH Section Sulthan Bathery for further necessary action . The date of handing over the site to the Contractor will be reported to this office with out fail.
- 3.Copy to Agreement -1No.

Encl:

Accepted Schedule

colly bocaled sumosh coly 26-8-2022



Tender Inviting Authority: Assistant executive Engineer, Kerala water authority ,P H Sub division, sulthan bathery Work Name:Work Name:Deposit Work-(2021-22) Grama Panchayath -Renovation of Exiting well in Raroth ST Colony in Meenangadi GP

	ACCEPTED S	CHEDULE				
SI. No.	Item Description	Quantity	Units	Estimated Rate in Rs. P	TOTAL AMOUNT Without Taxes in Rs. P	TOTAL AMOUNT In Words
1.001	Working charge  Excavating trenches of required width for pipes, cables, etc including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5 m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20 cm in depth, including consolidating_x000D_each deposited layer by ramming, watering, etc. and disposing of surplus excavated soil as directed, within a lead of 50 m:_x000D_All kinds of soil (Ref. Item No. 2.10.1 of DSR)	51.000	cum	559.00	28508.75	INR Twenty Eight Thousand Five Hundred & Eight and Paise Seventy Five Only
1.002	Laying UPVC pipes of class 2 to class 6 and specials, lowering to the trenches already made, placing in position aligning the pipe line to the lines and levels and jointing the pipes and specials with solvent cement and testing the pipe line with water to the required test pressure (excluding cost of pipes and specials)x000D_63 mm nominal outer dia pipes.	102.000	metre	87.59	8934.59	INR Eight Thousand Nine Hundred & Thirty Four and Paise Fifty Nine Only
1.003	Providing and fixing G.I. pipes complete with G.I fittings including trenching and refilling etc. External work50 mm dia nominal bore	60.000	metre	669.51	40170.66	INR Forty Thousand One Hundre & Seventy and Paise Sixty Six Only



SI. No.	Item Description	Quantity	Units	Estimated Rate	TOTAL TOTAL AMOUNT AMOUNT In Words
				in Rs. P	Without Taxes
.004	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end):50 mm pominal base				Rs. P
.005	Providing 15mm (1/2 inch) house some	2.000	No	1029.51	2059.02 INR Two Thousand &Fifty Nin and Paise Two Only
	water meter from existing PVC / HDPE mains up to 110 mm dia., up to a length of 5 m using 20mm Indian Standard Class 6 uPVC pipe and uPVC / GM / Brass specials viz. brass ferrule, GM full way wheel valve, Elbow, MTA, FTA, couplers, PVC Service Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter occurred of minimum size 300mm x 200mm x 150mm, but excluding the direction of the departmental officers.	3.000	Nos	5926.06	17778.17 INR Seventeen Thousand Seve Hundred & Seventy Eight and Paise Seventeen Only



SI. No.	Item Description	Quantity	Units	Estimated	TOTAL	TOTAL AMOUNT
				Rate in Rs. P	AMOUNT Without Taxes in Rs. P	III Words
1.006	Providing additional length of house connection pipe using 20mm Indian Standard Class 6 uPVC pipe and specials and testing the joints etc., by trenching and refilling in all kinds of soil with trench of average cross section 0.3m x 0.75m for laying of connection pipe and service pipe, lighting, watching, providing caution boards, traffic control etc., including cost of materials, hire for tools, cost of consumables and labour charges etc. complete, but excluding the cost of cutting of concrete / tarred / bituminous roads etc., and as per the directions of the department officers.	60.000	metre	177.84	10670.64	INR Ten Thousand Six Hundred & Seventy and Paise Sixty Four Only
1.007	Providing 20mm (1/2 inch) PVC Air Valve in the water meter assembly for 15mm connection, using 20mm Indian Standard Class 6 uPVC pipes and specials including cost of materials, consumables, hire for tools and labour charges etc. complete and as per the directions of the department officers.	3.000	Nos	376.67		INR One Thousand One Hundred & Thirty and Paise Two Only
1.008	Providing 15mm CP Brass Tap in the water meter assembly for 15mm connection, using 20mm Indian Standard Class 6 uPVC pipes and specials including cost of materials, consumables, hire charges for tools and labour charges etc. complete and as per the direction of departmental officers.	3.000	Nos	862.56		INR Two Thousand Five Hundred & Eighty Seven and Paise Sixty Seven Only
	Providing and placing on terrace (at all floor levels) polyethylene water storage tank: ISI 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.	1500.000	Litre	10.44	15657.00	INR Fifteen Thousand Six Hundred & Fifty Seven Only
	Connection fee to KWA office for domestic connection	3.000	No	560.00	1680.00	INR One Thousand Six Hundred & Eighty Only
	Supply of materials					•

SI.	Item Description						
No.	item = seribtion	Quantity	Units	Estimated	TOTAL	TOTAL AMOUNT	
1				Rate	AMOUNT	In Words	
1		1		in	Without		
1				Rs. P	Taxes		
					in		
					Rs. P		
2.001	Supply of uPVC Pipe, IS 4985: 2000, 10kg/cm2, 63mm Dia.						
	Tokyrcinz, 63mm Dia.	102.000	metre	174.70		INR Seventeen Thousand Eight Hundred & Nineteen and Paise Forty Only	
Totalia						,	
Total in	Figures				440000000		
					146996.00	INR One lakh fourty six thousand	
						nine hundred and ninety six only	
	T K Jithesh						

T K Jithesh Assistant Executive Engineer

